Cost Accounting         QUIZ Chapter 3          Name__________________________________

1. Assume that PALM Corp's breakeven point is revenues of $6,000,000 and fixed costs are $2,000,000.

What is the contribution margin percentage?
What is the unit selling price if variable costs are $18.00 per unit? [4 pts]
If PALM’s budgeted revenue is $15.288 million, what is PALM’s “margin of safety?”

2.  LARRY Manufacturing produces a single product that sells for $80.  Variable costs are $32 per unit.  The company expects total fixed costs to be $72,000 for the next month at a projected sales level of 2,000 units.  Suppose that management believes that a 10% reduction in sales price will increase sales 10%.  What will happen to operating income if the proposed reduction in sales price is implemented?  Will it say the same, increase, or decrease?  By how much?

3.  Sales total $200,000 when variable costs total $150,000 and fixed costs total $30,000. What is the breakeven point in sales dollars?
4. When a greater proportion of costs are fixed costs, then:

A.  a small increase in sales results in a small decrease in operating income  


B.  when demand is low the risk of loss is high


C.  when demand is high the breakeven point is increased


D.  a decrease in sales reduces the cost per unit  
5. Suppose a company decided to automate a production line. Explain what effects this would have on a company's cost structure using CVP terminology. Could these changes have any possible negative effect on the firm?  
6. Mount Carmel Company sells only two products, Product A and Product B.

	
	Product A
	Product B
	Total

	Selling price
	$40
	$50
	

	Variable cost per unit
	$24
	$40
	

	Total fixed costs
	
	
	$840,000



Mount Carmel sells two units of Product A for each unit it sells of Product B. Mount Carmel faces a tax rate of 30%. 


Required:


a.
What is the breakeven point in units for each product assuming the sales mix is 2 units of Product A for each unit of Product B?


b.
What is the breakeven point if Mount Carmel’s tax rate is reduced to 25%, assuming the sales mix is 2 units of Product A for each unit of Product B?


c.
How many units of each product would be sold if Mount Carmel desired an after-tax net income of $73,500, facing a tax rate of 30%? 

1. Assume that PALM Corp's breakeven point is revenues of $6,000,000 and fixed costs are $2,000,000.

What is the contribution margin percentage?
BEPrev = FC / CM%  (  CM% = FC /BEPrev =  2.0 / 6.0 = 0.3333 or 33.3333%
R – VC – FC = 0;   at BEP, CM = FC!

What is the unit selling price if variable costs are $18.00 per unit? [4 pts]

CM% = (USP - UVC) / USP ---> 0.3333 = (USP – 18) / USP  ----> 

0.66667*USP = $18                     USP = $27

If PALM’s budgeted revenue is $15.288 million, what is PALM’s “margin of safety?”

Budget revs – BEPrevs.  = $15.288 – 6.0 million = $9.288 million      (344,000 units)

2.  LARRY Manufacturing produces a single product that sells for $80.  Variable costs are $32 per unit.  The company expects total fixed costs to be $72,000 for the next month at a projected sales level of 2,000 units.  Suppose that management believes that a 10% reduction in sales price will increase sales 10%.  What will happen to operating income if the proposed reduction in sales price is implemented?  Will it say the same, increase, or decrease?  By how much?



DECREASE by $8,000


   $80 x 10% = $8 x 2,000             = ($16,000)


Increase 200 units:   200 x (72-32) =     8,000


Change in op. inc. =                            ($8,000)

3.  Sales total $200,000 when variable costs total $150,000 and fixed costs total $30,000. What is the breakeven point in sales dollars?


200,000 - $150,000) / $200,000 = 25% CM%; $30,000 / 0.25 = $120,000 BE sales
4. When a greater proportion of costs are fixed costs, then:

A.  a small increase in sales results in a small decrease in operating income  


B.  when demand is low the risk of loss is high


C.  when demand is high the breakeven point is increased


D.  a decrease in sales reduces the cost per unit  
5. Suppose a company decided to automate a production line. Explain what effects this would have on a company's cost structure using CVP terminology. Could these changes have any possible negative effect on the firm?  
Answer:  

An automated production line would increase fixed costs through extra depreciation on the new machinery and also decrease variable costs due to the elimination of direct labor as a result of automation. This would increase the breakeven point. This could possibly have a negative effect on the firm if demand for the product produced by this production line is expected to decline in the future. With high fixed costs and low demand, a decline in profits might be more severe due to the presence of unchanging fixed costs as volume drops.
6. Mount Carmel Company sells only two products, Product A and Product B.

	
	Product A
	Product B
	Total

	Selling price
	$40
	$50
	

	Variable cost per unit
	$24
	$40
	

	Total fixed costs
	
	
	$840,000



Mount Carmel sells two units of Product A for each unit it sells of Product B. Mount Carmel faces a tax rate of 30%. 


Required:


a.
What is the breakeven point in units for each product assuming the sales mix is 2 units of Product A for each unit of Product B?


b.
What is the breakeven point if Mount Carmel’s tax rate is reduced to 25%, assuming the sales mix is 2 units of Product A for each unit of Product B?


c.
How many units of each product would be sold if Mount Carmel desired an after-tax net income of $73,500, facing a tax rate of 30%? 


Answer:

a.
N = breakeven in product B   2N = breakeven in product A


($40 x 2N) + ($50 x N) – ($24 x 2N) – ($40 x N) – $840,000 = 0



($130 x N) – ($88 x N) – $840,000 = 0



$42N – $840,000 = 0



N = $840,000 / $42 = 20,000


Therefore, to break even, 40,000 units of Product A and 20,000 units of Product B need to be sold.

b.
The breakeven point would be the same.  At the breakeven point there is no pre-tax income, so the tax rate change is irrelevant in this situation.

c.
N = number of units of product B   2N = number of units of product A
($40 x 2N) + ($50 x N) – ($24 x 2N) – ($40 x N) – $840,000 = 

$73,500 / (1 – .3)



($130 x N) – ($88 x N) – $840,000 = $105,000



$42N – $945,000 = 0



N = $945,000 / $42 =22,500



Therefore, to meet the profit goal, 2 x N = 45,000 units of Product A and N = 22,500 units of Product B need to be sold
PAGE  
1

